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‘Read the followitig frequency’ dlsiribiution

~ for two series of observations .and answer
the two items that ﬁollow o

R Frequenqv

: - Series-I,

1020 | 20

| 2030 L 15

30_40 .'10;__:_-'.'-.
so60 - |y

' Clqss interval'

iR > o &

Series-Il |.

: Dmcdomfarthefaﬂmingﬁur (04) items : |

- Rﬂdthefollowmgmforménonandanswer ,- 3
‘.'_,jthaﬁarltemsthatfollow -

Let the disiribution of mumber of scooters of

_ companies X and ¥ sold by 5 showrooms .

(4, B, C, D and E) in a certain year be

- denoted by S1 and the distri ution of number |
_ of scooters of only company X sold by the
" five showrooms in the sameyearbe denoted

_bySZ

ShawmomA B'C-DB;qu;otérssold

| s160%) J19j21[153312| = 6400

Total | -'100‘.-ﬂ 100

1. Whatlsmemeanofﬁ'equencyd:stn -

butlon of Senes-I ‘?

1

) 356
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2. What is.the mode of the ﬁequemy'_

dlstrihntlon of Senes-lI ?
| . -'I | .(a).26

o 3%

@6

@ 56 .

| sz(m%) 24|1820[30/ 8| 3000 |

3. Numberofscootersofcompanyl’sold‘ .

byshowroomElswhatpercentofthe
number of scooters of both companies
soldbyshowroomC? o

(a) .52 '7 i
' (b)"_54

@ s .
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mba'ofsoootetsofbo&thecompa-
. messoldby n B is what per
«cent-more than the m of scooters
ofcompanstold‘?y showmmnA ? -
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5. What - is the average - number of
scootersofcompany Ysoidbythe
'showreomsArC_andE? C

(@ 4614
() 4311
© 426}

@ “ey

6. What is the differcnce between the

- number of scooters of both companies

soldbyshowroomAandtotalnmnber_‘
Vofseooters ofeompanstold by

© @ 416

() 426
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Directions for the following four (00 tems :
' Read the following information and answer ' -

the four items that follow :

'rmedatashowsthatmroadsmumng S

deadlier over the years.

l?ar'

2014

2015

2016

2017

bikers killed

46070

52750

#746 .,

| Number of

-112330

13894

15746

20457

| Number of

cyclists killed | 407

3125

2585

13559

pedestrians lnlled per day in the year
2017?

(a) 51

) 53
© 54
3 (d) 5j 6

8. What is’ the approxlmate percentage

change in_ the ians’ fatalities
“during the penod 2014—17 '?

- (a) 66%

_(b_)_ 68%

'(.;)' 7%

(d) '?6%

(© 14.7’
@ 134

7. What “was- the avei'age:nux.nber‘o'f |

. 9, ‘What is the average,number .'of-bik'ers_ -
killed daily in road,accidents in the
- year 2017 ? R '
(@) 163
o) 152

What is the average number of cychsts

killed dmly in road accidents in 2017 ?
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Let ¢ and b be two pusmve‘real
'numbcrssuchthata-\/_+bw/_ =32 and
a-J_+bJ— 31, What;sthevalueof R

- S(a+d) 9

7.

-(a)5.

®7

- {c) 9

T_.wmch one ofthe followmg equanons ?

. @ Cmnoibedetmned )

1443 .
2

Ifx=

—x3 thenysaﬂsfies

(@ 8?-20y-1=0
- ). 3)’2"'20}’ 1= 0
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. (b) X16,000

LCM?‘
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Conslder the follomng statements
- Unit dlglt in 1717 is'7.

2 Dlﬁ’erenoeofthesquaresofany.
two odd numbers i is always dms:-r._

' bleby8

3. Adding 1 to the productoftwo'
- consecutweoddnumbersmakeslt'_ ;

a perfect . square

(o) 720000
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‘ .'con'ect? : , _
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© ey
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: *schaneslsﬂxesameandlt is 20%. But
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. compounded half ly' and in the -
- other the interest i compounded

o in'theschanes..lf.the ifference of the
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is the principal - aniount in each
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@ 000 ¢
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l7.XYandZstm'tatsamepmntandsame"
© time in the same direction to Tun

aroundacucularstadmm X completes

~ a round in 252 seconds, ¥ in 308
. secondsandZleS seconds. After

. what time will theymeetagmna:the
. starting point ? _

_ (a) 26 mmutes 18 seconds
®) 42 ‘minutes 36 seconds
(0). 45 minutes

@ 46 _mmutes 2 seoonus!f
4

27?

»

solm'_

@
o
®) >

10 |
) >

o F

19 153 the equatlons x2+5x+6 o aml,

. zo.AlenﬂzsoootoBandatmesme

2+kx+1=0 have a common root,

thenwhatlsthevalueofk?

' 5 ) 10

- A received. T11200 as interest from .-

" time lent some amount to C at same
7% simple interest. After- 4 -years

| BandC Howmuchd;dAlendtoC?_‘
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. () 25000
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'.oneamdalossbf3

Atradersellstwocomputersatthe'
same price, making a profit of 30% on

_ o on the other.
What is the net loss or profit

._pememageonthetransactmn? o

(@) 6% loss

®) 6% gain

© s

- -(d) 9% gam

22. ThemonthlymcomesofA andBarem

the ratio. 4:3. Each saves ¥600. If
ﬂlelrexpendlturesareinﬂaemno3 2,

_thenwhatlsﬂlemonﬂz{lymoomeofA? -

(@) T1800 .

(&) T2000

© 22400

@) 3600
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23 Thetramfareandbquarebetwem.

“two stations is in the: ratio 3 : 4, If the
train fare increases by 20% and bus
fare increases by 30%, then what is the

‘ratlobetweenmwsedt:amfareand-'\

o rovised bus fire?

o,
-~ (a)

B

'1‘7'  _
.\‘.(b),a ;

S

19

BT

24. When N is divided by 17, the quotient

is equal to 182. The difference between
the quotient and the remainder is 175
Whatlsthevalue ofN‘?

@ 2975
(6) 3094 .
(c) 3101
() 3269

'25. A stock of food grains is enough for -
240 men for 48 days. How long will

_ thesamestocklastfm'lmmen?
(a) 72 days
. (b) 64 days'

(¢) 60 days

(d) 54 days

T

27

26.

@

(@)

A hollow nght circular cyhndncal o
- vessel of volume ¥V vdrhose diameter is

equal to its height, is icompletely filled
with water. A heavy sphere of maximum
possible - volume is .then completely
immersed in the vessel. What volume of
waterremamsmthevessel? _ :

Threepamllelhm:c,yandzm"

cut by two transversals m and ». Trans-

. versal m cuts the lines x, y, zat P, O, R

respectively; and Transversal n cuts

the lines x, y, z at L, M, N respec-

tively. If PQ=3cm, QR=9cm and

MN= 105cm,thenwhansthe1ength S

of LM?

(a)Vch_'

() 3Scm

28

() 4em
(d) 45 cm

Theamaofasectqrofacarcle of-'.
radius 4 cm is 256 ¢m?. What is the

.'.radlanmeasureofthearcofthe'

‘sector?

@ 23

® 32

) 33
@) 34
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(a) AB < BX
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@ vEm A

31.

Togifc0s8) + log, fsing) + logyq(fanB) +

. 10310(“0‘9)"‘10810(9909)"'10310(005909) =

_ 'arnmam%? |

@
® 0

- (¢) 05

32.
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Wﬁcﬁs’#+wsi 1%,

sin12x + 3sin!% + 3s1n8x + sm‘x o

- ﬂmm%?

. {a) 1_

®) 2

© 4
() 8

SDHY T-fMTH
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uﬁ:o<o<90° sinf= 13ﬂ'<x oota'

%
1+3x+9.t2+27x3+81x4+243x5 ,

' a;rwmm%?

@) %1

() 1000
@120

@ 1365
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. PREH F R it e x sk
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9. Which one of th@lfbl'lowiﬂg is correct
in respect ofa r'ightian'gled triangle ? -

(a) Its orthocenn'e hes inside the |

R )

©

Download More Papers From ;GothQ'bsAIert.‘ln B |

- tnangle

B tnangle

(@) It has no orthocenu-c

Let the bisectorot' the angle BACof a
triangle ABC meet BC in X. Which One

~ of the. followmg is correct ? -

._,_-..':"(a) AB <BX

(c) AX = cx
| ”-"__(d) None ofthe above

31

W_hat_ is the' .value-_of ‘log,g(cos@) +
logyq(sing)+log;o(tan6)+log,o(cot) + -

logw(secﬂ)+logm(cosec0) ?

@

S ®o

. 05

3.

IfOOs2x+oosx lthenwhatlsthe-‘
~ value.of . °
~ sin'2x + 3sin'% + 3sin®x +‘sm‘x?-

® 2

@4

' . ':. 0‘13
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Its orthocentre lies ohtmde the

,Itsorthocentrehesonthemangle L

33.

IfO<9<90° smﬂ 1amdx cote '

then what is the Yalu¢ of

1+3x+ 9x2+27x3+ w+243x5'? -

L) %41

® 1000

@ -1365l

(© 1220 : - -
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Theangiesofelevatﬁonofthetopsof
.,twopﬂ]arsofhelgh&handzhfroma-

~ pothonthehneplmngthefeetof‘ -

"'Tthetwopluarsare

- the distances of the
'ﬁ'omthepotharexandyrespec-' -
 tively; then which oﬂe of the following
‘ _-.1scorrect? . |

@ - x’y
L

| (d)'2h2=x?jrz' .

35,

Whatlsthevalueof
o ms?l"

@0 .

| ';(c)fz |

@4

C - SDHY-T-MTH
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oot of the plllars-"‘

|sm19° + cos73° 9
sinl7®
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_‘ 36.@ﬁl'gs'raﬂﬁ=m,22'cm%|ﬁ3aﬁ:' |

%m@mmm%w&

%@ﬁﬁ%aﬁﬁwﬂqﬂmwtv
(a) 33 cm i

® 4

(). 66 cm

- (d) 88 em ‘

.31.1%:@&@@43@&331@93&30 :
- iR ¥ iR o Bt acdkBD
40

fig O w Py &1 9R P 408

W e 3 om? § 9K B ADC W
- et Som? ¥, A ﬁ'gvrAODwf )

o e & 2

| (@) 8em?

® Som?
" (©) 36 cm?

@ 18cm*

P ScmIATm TR AR A |
R rbTwiwEREF AP =

IR =y | frafifa & ¥

s tmas st A bR g oAk

wRRifg PR ity

@ x=65mdy=65cm =

() x=
(c). i'é 5em 3Ry = 12_-cm '_

12cm 3R y=5cm

@ %=0cm 3ﬂ'{y=13 om

c

Rt

39

awﬁgﬁ ABcafhPQRawﬂnw

FAm: 75 cm 3K 50 om ¥ | AR Progr

 PORH wH Yo A wa 20cm e, AN

- _ﬁgawcﬁsaﬂﬁmgmﬁmﬁ, =

. W%?

(a_) 250m y

® 30 om
@ 4em

o . PORS T e g
. Trad fewt PR dR o5 fag O w

- wfvedz W €1 R P QRS T

) 10‘_cm§,-' o et PRAY st 2

@ SNFom
®) 10v3 em

41

_  .(c) ISJ_cm -
.(d) ZOJ—cm

'@m%ﬁammﬁ%m

xydRE IR T VR,
| Ehﬁﬂﬁr%aﬁ%aﬁamqmaﬁ%? :

_' (a) V==xyz .
__(b) VT
| (c) V=xz

@ V=P
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36. Thepenmeter of a triangle is 22 cm. -

Through each vertex of ‘the triangle, a

-straight line parallel to the opposite |
" side is drawn. What is the perimeter of

triangle formed by these lines ?
@ Bem |
®) 44 om

© em

- @ 88'cm

37Thes1desAD BCofairapmum-
- ABCD are parallel and the diagonals
AC and BD meet at O. If the area of .~

" triangle AOB is 3 cm? and the area of

triangle BDC is 8 cm?, then what is the |

area of trangle AOD?
= (@ 8_(;11}2

®) Sem
(@ 36 o

@ 18 em?

38. Ahne segmentABlsthedlameterofa

circle with centre at O having radius

. 6Scm.Pothlsmtheplaneofthe
. circle such that AP=x and BP=y,

In which one of the following cases
the point P-does #ot lie on the circle ?

@ x= 6}5 e and y = 65 cm -
(®) x=12cmandy=5cm
©) x =5 cin and y =.12 em

(@ x=0cmandy=13cm

39.

The penmetets of two | r triangles -
ABC and PQR are 75cm and 50cm
respectively. If the. lquth of one side
of the triangle POR ‘is 20 cm, then

~ what is. the length of corresponding

" side of the triangle ABC?

.':@ 25cm

(b) 30cm.
(c) 40cm -

_ (d) 45 c;n

 triangle having a side of length 10¢m, -

‘Let PORS be a°

diagonals PR and OS intersect at O.
If - triangle QRS is an equilateral .

thenwhatlsthelengﬂnofthedlagona]

_PR?

/. (a) Sﬁcm g

4L

® 1083m

(¢) 15{3cm
@ 20V3em

.Thearéésofthr.éead;ddén.t-facesof'a |

~ cuboid are x, y and z. If ¥ is the volume

- of the cubmd,thenwhlch.one ofthe, '

rfollowmg is correct 7

| '--(a) 'V.=‘m

® P-xz

@ V=@

C - SDHY-T-MTH
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Hﬁ%mﬁ‘ﬂﬁmﬁm

| (:hﬁm)ﬁm:% amm

o

43

wmE

o

-3

- © 4512 |
- _(d_)._‘_zﬁ

-HR‘Q?IT{EF;W Iﬂcmﬁﬁﬂﬂﬁt'ﬂi

48,

X et fig

m?«ﬂﬁqai@mpsﬂtqmﬁl" -

- pw R fig B R Coif, e |
R g DR EHR 1R EX
o Al Yo € 9k D& I aweh

WA paR AR

WFERIFEHL, NI wR

WRN W s e dAg R

w@:h?

@ ? om

®) Tem

:'(c) Scm

@ mﬁfsﬁ%'mﬁéaﬁ -
.‘maahﬁqp QR R, I%mzam- S

- nd P B gt e g ¥ AR
Py .POR N Woat & wey figeit

PR ww P ABC wT S,

ﬁn;a,wcaﬂ mm@m ?/

. (@) 4om? |

) ) 8 cm?
. © 16
@ 32om?

. SDHY-T-MTH -C

R AC:AD=4:9 ¥, &t Paw ABC

| 'a\zﬂgwrma:awﬁmmw* |
3 SR -

._-____(a.) 2 NG
C®) 4:9

-V (c) 16 81
@12

:'46.
150° 0 U B0 FoRT T € AR

mmmmwmﬁa@
¥ weg PR A o

| et Pk Ry
| mﬁwmaﬂﬁaﬁgﬂiﬁrﬁm-r N

ammaww%?

L@ 3:4

o 23
'_'(c)4«/‘9 -

@ 2«/'9;.'

47.

mhmaggaiﬁraﬁmﬂi
o wm- ¥ | Rt 122 % siga

~ ) AR Rt & et oA
12mn%,a‘fﬂﬂma§§a$réﬁtﬁa -
.ﬁﬁm%?

(@) 9om?

S o e
. (©) 16 cm?

@ 25 m?

16
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Iflmthelengthofthemedlanofan |
-equilateral 11'1angle, then what is 1ls _'

area?

.oi’—.

4’12 o o

\-(b) -

Ifltlsbentmtheformofaclrcle,thm ‘

(c) e
(d_): 27

'A'pleée of wire is in the form of a
‘sector of a circle of radius 20 cm,

subtendmganangle 150° at the centre.

2 what wﬂl be its radlus?

f__(a) = om

B 7"011_1‘

(c) 8cm
(@) None of the above

Suppose P, QandR arethemld-pomts‘:

" of sides of a triangle of area 128 cm?.

" . ' a triangle ABC is drawn by joining

. the mid-points of sides of triangle
. POR, thenwhatmthem’eaofmangle '

ABC?

g @ 4cm2 _
@8 cm?

C© 16w

(@ 32 om?

17
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45

Lettwohnespandqbeparallel

Consider two points B and' C on the

_"fhnepandtwopombandEonthe
line g. The line thropgh B and' E

) mtersectsthehnetlnou
- i between the two li 1
. AC:4AD=4: . 9, th'envqhat

CandD atA4
P and q. If
is the ratio

" of area of triangle A4BC to. that of

triangle ADE 7

' ,-.(a) 2:3

46.

47,

(b)‘ 4:9
(c) 16:81
@ 1:2

AnequﬂateralMangle@dasquareare'

_ constructed using mefallic - wires of
~ equal length. What is. ratloofarea'
‘__ofmangletothatofshuare‘?
" '--(a) 3: 4
®) 2:3
'(c) '4«]5:9:. '
@ 243:9
Authefomsldesofapmuelogrmlr

are of equal length.

| -'lmgthsofthedlagonalslsucm,thm :
'whatlstheareaofﬂldparallelogram?‘

@ 9om?

@ 12@_2‘

: (c) -_ 16 em?

@ 25em® R
. C-SDHY-TFMTH

e diagonals are
“in the ratio '1:2. If the sum of the
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.. mmﬁ@tmmam,
IR AB=5mIRBC=10em W, .
ﬁraﬂiﬂﬁwmsﬁﬂqmﬁtm -

wt?
_-'(ﬂ) dem

'__(b) 2J§cin 2

(c) T

- ‘(d) Som

s

| 49.'mmmaa}aa=ﬁﬁm. |

EA
CRCT
) BT |
. '(c)'zl:Ji'..__

@ B2

- ®) 30% =
@ 2%

:'(_d)' 15% -

83,

- 20% 3R 10% v & ekt & | I@ F
. mﬁﬁmmq&mev

@ 32% a0

18

‘51

ﬂﬁ@mﬁ@tﬁﬁm{
10em ¥, & W V@R ¥ T S
‘,maﬁmmﬁmmt? |

(® 100 cm?

‘(B) 50 cm®

©) 25 cm?
T (@ 10cm?

@ W W TR T T € e
20l P wmw R R
ilw%mﬂaﬁﬁiiﬁmﬁ'
sﬁqm'qmg? - o
(@ 11:7

| @711
| 23tmﬁ%|aﬁﬂwrsﬁm | ——

© 20:19 |

@ 19:20

| _'qamaafhw%ma:rwm 2ocm%sﬂt;
YW T qE &AE 1000 cm? R |

mmmﬂﬁm%?

(a) 4000 cm® -
- (b) 4500 cm?

.(c) 5000 cm®

@ 5200 omd

ummmmﬁuﬁmsscm%

U m IO
”Ww%lgﬂ%iﬂmﬁwm |
Y |

| =(a) 75°'
NOR

(©) 135°

() 150° |

| Dc')vv_nioadl\/l_ére Pape_r'sE(:om___.Go:\_/__t;lpbs_A_Ie_rt.-I'_h'_ |
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i 48.ABC13 a triang] e'ﬁghi angled at B. If
AB==ScmandBC lOcm,thmwhat o

mthelengthoftheperpendwalar

* drawn ﬁ'omt_hevertetho the .

hypotenuse ? L

@ dem

® 2J§éan |

@ 8 om

49. Twocylmders ofequal'voiﬁine have -
+ * their heights in the.ratio 2 3Whatlsf

the atio of their radii ?
(a) J' 1 |
(b) «F J— B

- (c)'Z_:Ji :
RORRY

| sn. Thelmgthandbreadthofa rectangle.
_arqmcreasedbyZO%andIO%respec-,

. Hvely. Whatlstheperomtage increase
- mtheareaoftherectangle? .

- ‘(a) 32%

) 30%

©. 25%

@ %

LT
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1. L
“right angled triangle: is 10 cm, then

If the length of thé hyﬂotenuse of a"'

 * 'whatlsthemaxmnma#eaofsucha

@ Bem®

'-fthatof‘squa:e?' o

are lying on a circle of

) _nghtangledtnangle? K

®) 50 c?
@ 10 cm®

A square is drawn such that its vertices
ius 201 mm.

What is the ratio of aréa of circle to

(@) 11:7

7
© 20:19 1
@ 19:20 o

A nght cm:ular cylinder |has a dlameter -
of‘ZOcmandmcmvedsmfaoeareals
1000 cm®. What is the volume of the

cylinder ?

(@ 4000‘¢m.3
(b 4500 om®

: (© 5000cm3'
“‘(d) 5200. cm3

.

'_Apleceofwne othgth.?&mmsbmt v
_into an arc of a circle of radius 14 cm. -

" What is the angle subtended by the arc |

-.atthecentmofthe clrcle?

! "(a)_ 75°
() 90°

@ 150°

(c) 135°

H

C- SDHY-TMTH
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5. » Prowr T T v ¥ e

- '%amm,rﬁwmwga%
_amiaaﬁ#aﬂm%maqmwt?
'_(a)12 '

-,,'(c)z's

@ 3:5

56. 59 ¥ x2+7x+s @&t (x+2) %r_
forfm. e W &, @ wEwe

@ + b + cx+ d ST R |y b, c3ﬂ'£d“'

%mm ’amt? -
@ 1,-2,3,1

®) ‘-1,2,-'3,1

© 1,-2,-3,-1
@ -1,2,-3,-1

. 57. & Prgr 4 yomd T 30cm,28cm

:aﬂrmcm%imaﬂmﬁma#?:
tﬁt{*ﬁﬁuﬁlﬁ%wﬁ

AT BN ?
(@) 37,11,28,16
(b) 21,30, 28,7
(© 37,21,11,9
@ 37,21, 9 7
ss.uﬁ logml995 33000% ﬁr
| © 001995)8 mmw% ?

(@) 100345

o 1'0'&3-375

1 -
(c)‘ 100"’.?2-75_"
@ T

SDHY-TMTH-C

59, (x a)(x b)(x c)ﬁm%m%?

.(a) xa—(a+b+c)x2+(bc+ca+ab)x—abc :

® x3+(a+b+c)x2+(bc+m+ab)x+ubc |

(c) x3—(bc+ca+ab)x2+(a+b+c)x—abc, -

(d) x3+(bc+ca+ab)x_2._—(q{-b+c)x-—abc

ﬁ’l‘ﬂﬁXY Tmﬁlﬂﬁﬁ‘gﬂﬂ

fE AR, W logg A WA T Y 2

(Rt f logi1050 = 30212311? |
‘log¥035 15441) .

| (a 53070 .

() 53700

(6) 55635

(d)- 56535

- 61

‘@mmzma@a\z'

AR =W AW 6 cm 3K 4em¥ |

9@ T N RedER 8 om WER |

aﬁ@ﬁﬁqﬂaﬁaﬁmm%ﬁ

'-'a@iﬁrﬁméw%?

.(a) 475em.

(&) 550 om.

@ 625 cm
@ 6,-75cn;"

i T
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What is the r.atio_.of the areapfia'-squérc
inscribed in a semicircle of radius r to_
theareanfsqu_aremscnbedmacn'cle‘

" of radius re.

56.

*Whatmwethevaluesofa,b cand d -
© respettively 7 .

®
©

@ 1:2

‘() 2:5
(e) 2:3

@ 3: s'

- 89,

The quotlent when x“ x2+7x+5 s

diwdedby(x+2)1sax3+bx2+cx+d

@® 1,-2,31.
—1: 2'3 3: 1 )
1, -2, -3, -1

(d) -1, 2,.—3,' ~1 o

The sides of a triangle are 30cm, -
28 cm and 16 cm respectively. In order.
to determine its area, the logarithm of
-which of the quantities are required ?

(2) 37,11,28,16

. (b) 21,30,28, 7
o (e) 37,21,11,9

58. Iflogml995 =3 3000, then what is the_

RO

| @).‘

(a)

@

(d) 37,21, 9,7

value of (0- 001995)8 ?

1
1 00‘3 475

1
10057

1

——

10°325 '

1
10%375

.21

61.

What is (s~ a)x — B)(x— ) equal to?

(#)' f—(a+b+c)t2+{bc+cd+ab)é—abc'

‘ '(b) x3+(a+b+c)x2+(bc+ca+ab)x+abc

(c) x’-(bc+ca+ab)xz+(a+b+c)x—abc

@ lx3+(bc41cq+ab)xz—(a'+bﬁl-c).t—ab¢._.

Lét XYZ be an equilateral triangle in

" which X¥="7cm. If 4 denotes the area .

of the triangle, then what is the value

' of logeA*? (Given that log,1050= -

3 0212 and logm35 1 5441)

: _(a)- __5-3070_ -

'. - (®) 53700 .

(c) 55635

@ 5-653'5 |

A hollow sphere of extema.l and
- internal diameters 6cem and 4cm
respectively is melted into a -cone of

: .'hasedlameterScm.Whatlsthehelght o

_ ofthecone?

| (a) 475 cm

”'(b) 550cm:

- (d) 675 cmgj'

- .(c) 625 cm: i

' C- SDHY-TMTH
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ﬂlﬁﬁr@i\aﬁmﬁaﬁﬂﬁﬁ."

~ 10 cm @R B 6 cm 8, 9 Rewm ..
A sig wg o & Rrs g 102
RECERE & LR L R
- -IOmtam(m)gmmﬁ_
R e
@ 25% N |
%

o © 5%

. 63,

| amﬁwﬂa&mqﬂmm“

o (d) 100% |

ﬁwm%(ﬁwm"

W iE H ) N w T 15em

et

. :(a) 240cm |

®) 25em

© 3em -

o (d). 112 om

-\%Eﬁ@qﬂﬁﬁﬁﬁrm
wamdl 6 39 B9 § W WK e
.,-m%&mﬁm@mmm:_

o (ﬂﬁi%)ﬂﬂ*tﬁmmmf
wR? - |

@ 2sa=fg.z
(b) unwge
CELS

C@ s

SDHY T-MTH

C

e

6.

T Fe (NW)ABCDWW“
fifrg, el 4B R co ik €, sk
AD, ABR W ¥y o wA A
AEI YN ABRMERIR DR

, thww% et EB = 250m3ﬂ'(,l-_-

. ” - FC= lﬁcm% ?hiﬁﬂilmw%?
‘ "_:(a) 16 em

® 25cm

L © 36cmr_,f""
' -(d) 40 cm'

_ 66.

3°m,4cm3ﬂ'(5cmﬁﬁlﬁ‘qﬁm%

 d Aol N Rver @ T A

."mm%lmﬁﬁmw%? -
(a) 12em |

67.

@) 10em
(c).8cm

@ 6em

Wﬂ'ﬁlﬁww 155232cm2'a|
msl!ﬁﬁﬁiﬁﬁwwg 7

(@) 40cm

- (b) 42 em

68

| (c) 38 cm | .7

‘?-@Wwﬁgﬁ%wﬁt:_ |
At F oo dk v Fowmw

W 6em AR 12 cm ¥ | AR T H

Fwk 7em ?, ?ﬁrzaaﬁrm(awaa) )

-
@ 55 om

(b) 462 cm?

() 234 em® -

(@ 166 en?
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‘A solid metallic cylinder of height

10cm and radius 6.cm is melted to

maketwoconesmtheratloofvolume o

1:2 and of same height as 10cm.

‘Whatlsthepercentagemcreasemthe |
: ﬂatsurfaoearea?

@ 2%

) 50%

 (0) ‘75%_

) @ 100%

If one side of a right-angléd ﬁiangle 3
(with all sides integers) is 15 cm, then -

what:sthemammumpmmeterofthe |

mangle ?

@ -240-@ |

@ 112cm

(b} 225 cmm

=(¢)  113 cm.

A thin rod of length 24 feet is cut into
~ rods of equal size and joined so as to
~ form a skeleton cube. What is the area

: Aofoneofthefacesofthelmgestcube
_ timsconmmcted?

@ 25 square foot

®) 24 squae fot

S (©) 9 square fect

(@) 4 square feet "

65.

Conmderau'apenumABCD in which
"AB is parallel to CD and AD is
perpendicular to AB. If the trapezium

" has an incircle which tpuches AB at E

-and CD at F, where EB=25 cm and

- FC=16cm, then what is the d;ameter'
~ of the mrcle? n _ '

(@ 16em .

66,

(b) 25 cm-

o (¢) 36em

(@) 40.cm

Threecopperspheresofraduiicm,‘_

~ 4¢cm and 5 cm are melted to form a
~ large sphere. Whatxs:tsradms‘?

(@ 12 em
f(b) 10 cm

| (c) 8 cm

67

@ 6om

The 'volum.e of a :hemisphere is

155232 em®. What is the radius of the -

hﬂmlsphere ?
() 40 cm

_' -(b) 42 cm .
- {c) 38cm-

i

@ 36em

"A.'bucket_ is in the form of a.fmnéated |

- cone. The diameters of the base and

+is 7 cm, what is the Icapaclty of the..‘.‘ .

. top of the bucket are 6 cm and 12 cm

respectlvely If the helght of the bucket

bucket ?

(@) S5
. () 462.cm®

(@ 166 cm®

3.

(©) 234.om’

C-SDHY-TMTH
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@miﬁq ’@‘ﬁ'@ﬁﬁSGm% I"lﬁ' o

=% AR B B 6 em B, @
wgﬁwéﬂmﬂﬁm%? |
(a) 96m cm®

~(b) 697 em?

- (¢) S4n om?

o (@ 43mn2‘

0. mﬁnﬂ&u@miﬁtgmlzcmt

T ¥ AR @, R A R e @ g

._ ?ﬂéﬁﬁﬂﬂwﬁww%ﬁ ?
(@ ¥w@1 o

® Fw2
© 1dR299

@ ati‘rl aé’rz

L ‘73'.'waﬂw=h€t'q'a?r§mhaﬁtr5%r-n

T 9 T B g R e g R,

W mE R TT H IR

srugaaermmwﬁrmgaﬁm

'ﬁlwmaﬁmmwm' |

Pt

(@ 30000
© o (b) 3600 cm?

mn

'_‘,-Mm%? |
o (a)a?rhhﬂé’f

..#&ﬁiﬁwﬁm

(©) 3744 cm?

(d) 3777 mz'

ST F A 28 %,ﬁr

ORI

@3

| (d)

T2,

ﬁﬁ%ﬁamﬁmﬁaﬂfr&q

lqﬁmqaﬂ(r%ﬁt{pmﬁﬁﬁ o
W R, R rF R p

ﬂﬁﬂaWh

| Zqﬁpﬁﬂﬂqﬁqrﬂﬁﬁmﬁlﬁm- :
kR p, g oh AP amar
%ﬁp,rﬂ%mﬁmﬁaaﬁmt_

SDHY—T-MTH

@ 8

N (c) 10

7Y

@ 1

qaa:ﬁﬁ%m soomq§ M aw R |
| IR ¥R wlen www R 1R T

%ﬁ' - WA A s Y, ok w R

g 7eg d, A 39 B adE Y

. e wr Tl Wi S ¥ AR 'R
&rﬁaﬁam%? - N
- (a) 10 | :
NORUE

(¢) 15

d 17

:.'ﬁm@%ﬁy,«/_%ﬁgamaqﬁht

5

A x=369 y=36% lxa:rmw

A y=sat?
@ 54 -

®) 27

. (c) 16
,(d) 8
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69. Anghtcn'cularoonehashelghtscm :

If the radius of its base is 6.¢m, then
whatlsnstotalsurfacearea? -

(a) 96 e
(b) 69 om?
(c) S4n om? -

(d) 43:: m’ |

70 8nccubes,eachmth 12medgem'e- .
| Jomedendtoend.Whatlsthesnsface-'

of resulting cuboui ?
(a) 3000 cm?
(b) 3600 cm?
(c) 3'744 em? -

(d) 377‘7 t:l:n2

. Ifme sum ufa real number and- ns? -
' thenhow many such '_

recxprocal is &
“nuiribers are possible ?

] @ _None '
() One
(@ Two.

(d) Four-

72.° G&nsxder the follomng statements :

L prlsrelanvelypnmetoeachof
R "qandr,thenplsrelau\?elypme
‘ 'ftotheproductqr ' ' f

_ 2 I_‘pr divides the product qr anid lf
S dmdes g then P must ﬂmﬂe r.

."'wmch of the abov:e st+wments isjare
: jcorrect? o

@ loy 7

~ (b) 2nly

() Both land2 |

| (d) Neither 1 nor 2 11

7.

'Radhaandnanlares:

sgbrs Fwe yeats

" back, the age of Radha was three times

f.‘-"-"thatofRsnl,butone’yehbackﬂmeage
. -of Radha was two#imes that of Rani. -

'.¢Whatlst_heaged1ﬂ‘e;encebetwaen.

 them'?

@8 g
S ®9 v
@ b

' @u- N

74.

A person carries’ ?500 and wants to

" buy apples and oranges|out of it. If the
°°St°f°ﬂ° applelﬁﬁ}andthecostof ;

what is the
hapetsoncan _

one orange is X7, .
number of ways in wh

buy both apples and " oranges usmg

- total a.mount?
“(a) 10

®) 14

@15

5.

tmlif._,,

Gwen y 1s mVersely

* Jx, and x =36 when y=36. Wh
"thevalueofxwheny#ﬁ?
(a) 54 -

,(b) 27 |
if-:'}':f;.f)'-f'.?1'6_‘.‘*;- R

ORI L
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fiﬁ*l'-éﬁ'ﬂa‘ﬁl‘f"ffﬁﬂ'l’%?' |
@ 4+7 "

@A
(0 3447

T

78

@ 3- «/‘7'

725, sﬂsﬁtwi&aaﬁa?rmm
w7 e wn R s dog2 = 0301,

logig3 = 0477, logy 7 = 0-845]

_(a) 21, 20 19

(®) 20, 19, 18 |
©) 22,21,20

@202

'.mﬁmxagwaﬂq;ﬂaa%ﬁ' 7

W x 14 % fenfe R S @

Jea 7R Y Mma W ISF
frnfora frm s &, A S 5 Bt
.hﬁnﬁ-rf@aﬁiraﬁhm@w%?

. (a) 20<x<30
@) 30<i<40
- © 40<x<50 o

79.

(d) x > 50

"qﬁﬁwzﬁﬁﬁaﬁxa‘k}'ﬁm
&1 2R Yaw x N e i R A ah

¥ 7 g o 20 fFe 3 off R @

st ) aR xRk ¥ 36 v @w Ry
MEA AR E R 5P
 PeR AR W IrAG

S I, A W R @

m@%ﬁﬁﬁmmm?

B SDHY-T—MTH c

@ 3oﬁ=|t

.‘(b) a5 frz

©) sofFmz

@ wbm |
. Frefi lﬁ‘ﬂﬁﬂtﬁin?ﬁjﬁm;

| 2 m%mqaiﬁ,mﬂaqyﬂmx%ﬁi :

AT

'8

3.5 % wh TR ¥ R

' —-—--<ll
X

4423303 W - P #mﬁﬁm

3 mm% Wpﬁtqﬂ?ﬂﬂi'g 1

‘-',mgﬁﬁ%W%mH@I?? o
@ 1aﬂtz

® 233

(@) 2sﬂ'<'4 o

- 81.

@Wﬁtﬁaﬂaﬁtm@ﬁ

- dita w510, AR o Rt = we

240 ¥ 1 wfaR ¥ TRw Y TR 30 Rt
Fw A Y AR oA
mga%hﬁraﬂmmw%? o

(@) 276

Cem

@ 285
B _(d)A'375' o
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' 76. What is the square root of7.1_6_+‘6wﬁ ?.

@ 4447
® 4-7

@ 3447
(@ 3-47.

T7. What is the number ef tﬁglts m725 825
- and 9% respectively ? [Given logs2 =
0301, log,3 = 0477, 1og,.,7 0845]
(a) 21,20,19 .
® 20, 19, 18
(©) 22,21,20

:(d) 2,20, 21

-

78. Let x be the smallest pomhve integer
such that ‘when 14 divides x, the

* remainder is 7; and when 15 divides x,

" the remainder is 5. Which one of the
following is correct ? '

@ 20<x<30
L) 30%3<'4o

(c) 40<x<50
@ x> 50

tank. If only X is opened, it drains out

* the. full tank of water in 20 minutes.

If both X and ¥ are opened, then they

TwotastandYateﬁxedtoawater_

dramouttheﬁﬂltankofwatermi

15 minutes. If. only Y is opdned, how

‘longdoeslttaketodramouttheﬁlll_ '

'tank of water?

27

@ 30 mmutes

(b) 45 minutes

(©) 60 minutes

@ 90mmutes :

2 There exists at least a posmve',:. o

81.

VConslder the followmg statements

1. a -\/ﬁ 1s arat:onal number

mtegerxsuehthat__ _1'
5 8-
' =2
3 == forallrealvalues ofx
4, 4.'232323 . can be expressed m-' o
ﬂle'fermgwherepandqare |
" Which of the above staiements are
correct? '
@ Tand2
() 2and3
(c) 3and4 -

@ 2aﬁd4 :

A hbrary has an average mnnber of :
510v131t0rsonSundayand2400nother :

" days. What is the average number of .

visitors per day in a month of 30 days

besmnmaw:thmday?
(@) 276
@) 282
@ 285
@ 375
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82.9% X34
AR TR |
T U
ytz o

,(a)6..__ _
@8

- R
@ I%ETET

o) %,

© at-rm-rrmﬁr
-_(d) OS%m

LAty

'sswamﬁmemm%%
G- xz)aiﬁam%lxﬁﬁaaim%?
@ -15 i

e v €, a(ﬁm)ﬁma;‘ B
o wmR?

® =05

| _(c) 05 S

'_ 86. it io" 6Bx759%1052. H ﬁmﬁa
o ﬂRﬂT% Eﬁuﬂﬂmmwg" R |

(a) 20
® 2
(c) 23

87. 3% 3”%%@&33@1%53@%*_

84. 600 ku S T 7P 3 TR 120k 7
B il AR

o IR 1R W e |
AR = am B 200 km T T @
S T iR M R
o Fe o 40 e v R 1 wRA
wﬁraﬂmﬁﬂﬁr%mﬂmw% ?
IR (a) 3:2 - ‘
@) 2:3

© 3:4
@ 4:3

N muﬁhmaﬁ%?

_(a). 3

.- @)'6_ o

@7
@ 9'__-__ o

s&mmmqgﬂﬁ%mﬁwﬁm:*l
C o 204% lwa@nﬁm:ﬂmw% 7.

@38
(b) 34

@30

@x
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3% . 1 . . 8. A real nomber x is such that (f—?)
821f-ﬁ-3+ 1.-,‘Whemx,yandz: e 1smax1mmn.Whatls;xequalto? '

Yz (8) -1:5

arenaturalnumbers, thmwhatls " "'(b) 05
(x+y+z)equa_lto'? - _
. (@) 6
@8 . 8.If 10" divides 6°x75°x105% then
— S N whansﬂ:elargestvahueofn? -

- (c-) 05 |
@ 15

@ 9‘ | (a) 2
"-83.Ape.tsonsellstw01temseachat ‘(b)22'

- Rs. 990, one at a profit of 10% and - .
- another at a loss of 10%. What is the '(c}) 23
~ combined percentage of pmﬁtorloss o :

forthetwoﬂems? L (d) 28

-'_j(?) 1%-_1958-‘ ' : ‘ R A Whatlsﬂaemgltm eumt’s place of
(©) No profit no loss @3 SR
' o (b-)., 6 o

@ 0-5%,-proﬁt R |
| @7

ultmkesllhomsforaﬁ()ﬂhnjoumey -
if 120 km is done by train and the rest - _ -(d) 9 EEURS
by car. It takes 40 minutes more if : ' S

- 200km are covered by train and the S&Thesmnofthe#quares offt,mr'

* - rest by car. What is the ratio of speed - consecutive natural numbers is 294.
ofthecartothatofthetmn? Whatlsﬂmmnnofﬂlenumbets?,

'(a)sz_- AU T ,(a)ss_'
®2:3 S ek
© 3.4 St @ 3
@es o em
Ve cismviem
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wﬂw x2+px+q=0ai1f'l'p 3ﬁt q

- Hwer g, ﬁq#O%IpSﬂtq%mf
mwﬁ? |

@ L,-2

® L2 -
© -1,2-

@ L2

90

‘ _jmgﬁmmasﬁaﬁmgmg'
. ﬁﬁaﬁﬂm:&s%? SR

@ 1

M) 2

| - @© 3

@ 4

o1, 9l

9,

('b"e)ﬁﬂﬁwhm' 13— Gx+b=0
| tﬂ@q:vr% wgl b s i &, aw =
| ‘aﬂaﬁaﬁnmw%? " N
) @ 36
B 4
@ e

@ 81 . '

?va'.'a—\/‘?+ %ﬁl(w—ﬂﬂmﬂ &

94

- 93.

g?_-

, L _
Eiﬁl?ﬁ-——‘—— mﬁaﬁﬂmm.
. x +5x+10 -

(a) s

3

T (o 3) Rl o +2) ohwt g
- Py wE W -2 R A gy

st gRr g g S ¥ s 3 4

N RAxwIRAEL ?

(@ 8
®) 10

i (©) 12

S 15

.ﬁﬁfﬁf@aﬁ%aﬁﬂmwﬂﬂ% ?

' '._(a) 1=r€rm%,sﬂt=rt?rm

CRAE L 1T
- © ﬂﬁp*q‘éﬂ%ﬁpaﬁtq@mw T

g

.'(d)wl_tﬁmﬁhum% -

| -‘wgv . _'96.n%3=rwhﬂg|f$m=ﬁ$rzmmw% o
@2 ﬁlﬂ%ﬁq#ﬂs}nwz@qﬁaﬁt? .
Cayis L@
_-(b)' . L® 1
© 4 @0
@7 @ 19
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. The dquatlon x2+px+q 0 hasroots- '
equaltopandqwhereqa&{) Whatare-

the values of p and q respectlvely ?.

(a) 1,-2.

®) 1,2

..(c) —12

) —-l —-2

How many palrs ofnatural numbers
are there such that the _difference of

) theu' squaresls35?

@1 '

.:_:(b) 2
() 3

o1.

@4

If (b - 6) is one Toot of the. quadratic

equation x2— 6x + b =0, where b isan

. - integer,. then what is the ma:umum
:valueosz? S

i 36

. R
() 64 N

a—\fﬂ- thenwhatlsthevalue
1 . .

5 -;_'.'Qf a +""‘

) 3
@4
@ 7

o
1
O

93 What is the maxlnwhmvalue ofl--the o
_ express:on 7 .
o xz+5x+i | -

-_@

15

ry
2 . -

94. If the ratio of the work done by (x +2) .

workers in (x—3) days to the work
~ done by (x + 4) workers in (x —2) days
153 4 thenwhatn%theva]neofx?_

(a) 8

® 10
© 12
(d) 15 ..

Whachoneofthe followmglsm_.'_'__-‘_:;

~correct 7
" (a) 1 IS nelther pnme nor oompos1te
(b) 0is nelther posmve nor negahve

(c) prquseven,thmpandqare
“always even

(d) J‘manmdhalnumber

7,96. Whatlsthcsmnof Imtegervaltwsof '.
n for which u2+l
square? .

@2

+92 is a petfect

® 19
© 0.
@ - —19

C-SDHY-T-MTH -
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91 agqﬁx3+3xz+3x+1 e, aﬁ:x— {a,{b},c}
o B+SPesxradR 0 Y={{ahbep R

R X2+ Sx+4 RIS . Z=fa, b, 1) ¥ | o
- wAgE WS (LCM)wEIR Y | a"r'c:(nmzﬁma:m% A
(@ &+ 1)3(3""4)(12'_"‘1'*‘1_) . o () {a, b, ¢}
S0 e+ HEExH) O e, B e
O @HDE+xH) | '(‘;) {in} |

@ (x+1)2(x+4)(f+x+1) -

- (d) q,

= G- -5 e
98, T g wARET 1on 'amrt{psfk qmm%ﬁsﬁma-

'%? S o o P32 =0 F T W

zhmsﬂtgum-s‘%up -~ .

@0 o mmtr
o | (a) 1
,'(lb)l_r-_" |
4 © 2 .
@1 2 . ~N @3

. ®

W |

' SDHYVTMTH-C 32
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97, What is the LCM of the polynommls 99. If X= {a, (b}, )
: B+32+3x+1, . Y={{a},b,clend -
P+52+5x+4and 0 . - Z=f{a, b, {d}s

 aPesx+4r ‘thm(xnr)nzequal-sm_
C @ GFIPEHHER+ x4)

| @ @b
®) Gt |

) {{a}, ®), ()
© @

@e.

@ D@ )
R (@ 1P+ AP+ +1)

{fiumbers p and g are such tha the

'.'(x--y)34r(y-'z)3+(‘z..-x')f"' . .
? ~quadratic equation ‘px?+3x+2g=0

| Hx-yNy-2z-x)
@ 0 | N o ~*the roots. Whatlsthe.valueof(p_ Q2

@ - |

@2

(RN

 ®

@

@ @3
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: DONMOPENIMWWWLWBM TOLD I'DMSO

T.B.C..SDHY L R S TestBookletSel‘iel'-

TEST BOOKLET |
ELEMENTARY MATHEMA-HCS BN

. ;;

3

" DO NOT wriwe anything else on the Test Booklet.

- You have to -enter your Roll Number on the

mm MHom o o Mavimim Marki : 100

INSTRUCTIONS

EMDWBLY AFTER THE COM!ENCEMENT OF THB EXAWAT[ON YOU SHOULD.‘
'CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR'
. MISSING PAGES ORIT'EMS, ETC. TF SO, GETITRBPLACED BYAGOMPLETE TEST

BOOKLET..

.mmmuhtﬁemdidm%mpnmuxmm“lﬂhthMNumnd |
. 'Test Nooklet Series A, B, C or D carefully and -withont any omission &f discrepency it the
--wmmmommsmammmwmmm

Answer Sheet lisble for rejection. -

Test Booklet in the Box provided alongside.

This- Test Booklet contains 100 items (questions). E&ﬁﬁmmmﬂdhﬁh“ﬂm

‘Bach item comprises four responses (answers). You will select the response which yon want to

- mark on fhe Answer Sheet. In case you. feel that thwre iz more than one correct response, mark the

‘6.

T

9-_ ’
10.

" respomse which you consider the best. #a any case,.choose ONLY ONE response for each item.
-YwhawmmkﬂlmrespmmmYmﬂwsepmAmwShwth&edmm -

© in the Answer Sheet. :

AR items carry equal marks.

mmmmmmmmsmummmmmmmm

'ywhvetoﬂlmmpuﬁculmmﬂ:emw%m“pﬂmmmymm!om] o
'mmmmmmmmmmmmemsmmumm, '
'mleMMwmmmmwmmMYwmpmmwm

away with you the Test Booklet.
Sluqbfnrroughworkmappendedmthekﬂﬂwkletatﬂlemd_

TIIEB{BWELBEP’ENALTYFDRWRONGANE’WBRS MARKEDBYACANDIDM’ER‘ITHB

. OBJECTIVE TYPE QUESTION PAPERS.

l-(iﬁ)' If&qlmuonmleftblank,x.e mmkmﬁymmmmﬂunm_._

(i) Thuemﬁmwdmmm_ﬁ&eauﬁwmqm Fmeachqmsnmﬁmwlnch.
‘8 wrong answer has been givea by the candidute, one-thlrdofﬂumnhasmdwﬂu :

" question will be deducted 2s penalty.

-,'(i1)<:Hamgmmmmommmnmnbemmdasamgmmifm o
ofﬂngwenmwmhappmmheomctandﬂwwwﬂlbempmﬂtymmmﬂmﬂ )

for that question.
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